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Tnpsc Aptitude & Mental Ability Model Questions Set 3

1. Find the number which when multiplied by 15 is increased by 1962

6(Th 616807 15 60 QUIHSSLILI(HD QUT(E) 196 HSBLNHME| 61651160 Db 6T650T6E0)ET0TE

55650T.
a. 14 b. 20 C.26 d. 28
. . a3+ b3 a?- p?
2. Simplify:
piity a?+ 2ab+ b? a-b
ad+ b3 a%- p?

FHHGS. a?+ 2ab+ b2 ' a—b

a.a’?— ab + b? b.a? + ab + b? c. a+b d. a-b
3. Which term of the series 5, 8, 11, 14, ....... is 3202

320 6T60TLIG)| 5, 8, 11, 14, ..... 6T65TM) eUflem&ullesT 616G emesTLITEUg| 2 MILIL|?

a. 104" b. 105" c. 106" d. 64"

4. What percentage of 60 is 72?

60 6T6OTLI 60T 61855601657 FHATHLD 72 D& Q(HSHS (LPlpWLd?

a. 80% b. 120% C. 84% d. 65%

5. Ram can do a work in 15 days. Rahim is 50% more efficient than Ram. The number of days

Rahim will take to do the same piece of work is
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T eTedTLIONT 62(IH Ceuemevemwt 15 BIL&6il6v (PlpsbH M. Tamib sesTLeul Fmb-emw aflL
50% ellemyeuns (lpliLmy eTesflev, panilb WL (HD SHevflwing HHCs Ceuemevenw 618z em 60T

BIL&6rtl60 (LplpILIM?

a.7% b. 10 C. 12 d. 14

6.IfA:B=5:7andB:C=6:1 then A:B:Cis

A:B=5:7@wey|b B: C=6:116m60tl60 A : B: C-68T Lo&LILY

a.55:77 : 66 b.30:42:72

C.25:49: 42 d.30:42:77

7.170% of 1140 =?

1140-6V 170 % 6T6UGU6TTEY?

a. 1938 b. 1824 C. 1968 d. 1881

8. If the sum of a number and its square is 182. What is the number?

62(Th 6T6BTTETD)|L 63T G60T U[EHHSHNSHE oLl lo6vTev 182 HleOLESH M| 6T6vil60 B 6T6v0T

wng?

a. 15 b. 26 C.28 d 13

9. What is the HCF of a?b* + 2a?b? and (ab)” — 4a*b°?

a.ab b. a’b3 c. a3h? d. a?b?
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10. The H.C.F. and L.C.M of two numbers are 84 and 21 respectively. If the ratio of the two

numbers is 1: 4. Find the larger of the two numbers.

8 stevtISs6il60T L.GILIM.6U. LHMID WB.QUM.L. (PG 84, 21. I[HS ETEBBTSHEIT 1: 4 6T65TM

allHa5 560 DHembgl6Tersst sTesllevd Steumnflev @Il eTevsT 6T8)?

a. 12 b. 48 C. 84 d. 108

1. Find the area of a semi circle of radius 28 cm.

ST 28 Q\&.L5. 2 6mL W Sieni 6UL L SHE\6tT LIFLILIENTEY ST6BoT.

a. 144 cm? b. 1220 cm? . 238 cm? d. 1232cm?
. .. (561 x561)— (31x31)

12. Simplify ( -
. (561 x561)— (31x31)

GF(HHGHS. ( 20

a. 530 b. 561 C. 31X 31 d. 592

1B.fa:b::3:5andb:c::7:2thena:b:cis

a:b::3:5LD[D@JLbb:C::7:26T€Uﬂ6'1)a:b:C

a.3:35:10 b.21:35:10

C.21:5:10 d21:35:2

14. The ratio of 9 months to 1 year is

&(H U(HLESH6V 9 GG 6T eilHssHe0s sHevor(hLUilly.
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15. If three numbers are 2a, 5a,7a, What will be their LCM?

2a, 5a,7a 6T65TM CLP6BTM)| 6T6BOIS: 61651 LOFFIM) QILIMG,) 61(F) 6T6B0T 61512

a. 70a b. 65a C. 75a d. 73a

16. A trader buys an article for Rs. 1,200 and marks it 30% above the C.P. He then sells it after

allowing a discount of 20%. Find the profit percent.

e eflwmumf] e(p GUIMHEMET ¢rm. 1,200 sunrhiglestiy. L6t 15607 L S&ailen605(&,
Gev 30% G sellen608(E 20% S6iTEHLIY QaTHSEDTT. aflbm allemsvuilsst somuLd %

6T60T6DT?

a. 5% b.4v2% C. 4% d. 6%

17.12 men can do a piece of work in 24 days. How many days are needed to complete the

work, if 8 men do this work?

(1 Gouemevenill 12 Wevflg a6 Caibgl 24 BILS6IT 6V (PlpsdlesTment). 4E8 Ceusmsvemw 8

esllg a6 CalbGl (Plpss 6155H6M6TT BTG (& LD?
a. 28 b. 36 C. 48 d. 52

18. A sum of money at simple interest amounts to Rs. 815 in 3 years and to 854 in 4 years. The

sum is
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QB QFTens sesfleullpulley 3 aupLES6L em. 815 pEIME). 215IC6Y, 4 aUIHLESH 6D er. 854

EIMG)| 6T6TDMEL B CSHTeNS 6T6U6U6TEY?

a. Rs. 650 b. Rs. 690 C. Rs. 698 d. Rs. 700
19. The G.CD. of a®b*,ab®c?, a?b’c

a®b*,ab®c?,a?b’ c- 6t1 15.QILIM.6. 6T6BTLIG

a. ab* b. a?b* c a*c d. a?c*

20. Simple interest for an amount is Rs. 120 at 6% per annum for two years. What is the

amount, if the simple interest is Rs. 90 at the same rate of interest for 3 years?

Q(H QFTEDBHESE, 6% Ul ly OIHHH6V 2 SEBIT(HBHEHEE H6vT 6uL Ly M. 120 SpEHMG). HCH

el L eiHEH0 CLPETM) D46T8T(HE(6THEE H6EBTIAUL LY. CTh. 90 61651160 Q& TENS> 6T6U6U6IT6Y

a. 1000 b. 1500 C.’500 d. 750
a 4 b 15 . c2 —q?
21.If= = —and = = =, find the value of ——
b 5 c 16 c2 +a?
Z = Ziohmib - 15 ereafleo S eir L& ILImeDT.
b Do T 16 c2 +qa? 9
7 3
a.— b. — c.— d—
25 24 25 25

22. The number divisible by 9 is

9 6T60TM) 6T6BBTEBBIITEY GU(GHLIL& Serlglll 676551

a. 18736804 b. 83360715
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C. 44679013 d. 14681439

23. A 4 cm cube is cut into 1 cm. cubes. The total surface area of all the small cube is

4 Q&15 2 6L W SeoT FGINONEsTE| 1 Q&.L5. 2 6L W Ffl S6sT F&ITrEIS6NTs

QeulLUu(hdlmg) etesfled FMflw seor Fginrigefles Q&g LFLiL wng)?

a. 96 cm? b. 24cm? C. 384 cm? d. 284cm?

24. Simplify (171><1712)4—0(69 X 69)

. (171x171)— (69 X 69)
&(H5ES. >a0

a. 102 b. 240 C. 171 d. 69

25. Find the LCM of 72, 108 and 2100

L5.@LIM.LD. &IT6BBT 72 , 108 LOMHMILD 2100

a. 37,800 b. 2,100 C. 36,600 d. 28,400
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